Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

%ﬂé@ and Chice

Support Us& get more exam wise free study material, videos, pdfs, current affairs, job
alerts, results join our complete exam wise social network from below links :-

TELEGRAM OFFICIAL CHANNEL Telegram.me/ExamsCart

FACEBOOK OFFICIAL PAGE FB.com/ExamsCartOfficial

TWITTER OFFICIAL HANDLE Twitter.com/Exams Cart

INSTAGRAM OFFICIAL PAGE Instagram.com/Exams Cart

YOUTUBE OFFICIAL CHANNEL | https://www.youtube.com/channel/UCYar18Ja2bri
D8tBOmMk5Nsw?sub confirmation=1

Please Subscribe, Join& Like Our Above Social Network.

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On



https://telegram.me/ExamsCart
https://www.facebook.com/ExamsCartOfficial
https://twitter.com/Exams_cart
https://www.instagram.com/Exams_Cart/
https://www.youtube.com/channel/UCYar18Ja2briD8tBOmk5Nsw?sub_confirmation=1
https://www.youtube.com/channel/UCYar18Ja2briD8tBOmk5Nsw?sub_confirmation=1

Daily Visit: ExamsCart.com Free Study Material Join: Telegram.me/ExamsCart

Free Current Affairs Daily, Monthly, Yearly Pdfs, GK
Tricks, General Studies Free PDFs

Click Here To Download

CURRENT
AFFAIRS
GK GS

#Daily Updated

Vocal For Local

Daily Current Affairs
GK Tricks for Exams
Monthly Current Affairs
Current Affairs Quiz

Gk Capsules

Short Tricks

Economy

History

Geography

Polity

General Awareness
Art & Culture

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On



https://bit.ly/CurrentAffairsGKGS
https://bit.ly/CurrentAffairsGKGS

Daily Visit: ExamsCart.com

Free Study Material Join: Telegram.me/ExamsCart

Reasoning

Chapter: Cubes 7 Dices

(1) which of the following cube in the answer figure
be made based on the unfolded cube in the question
figure?

fAFafaf@d 3ot ampfa & @ Fi ar oo v arv geat
3R @ Gol &eT A FATAT 76T ST Hehell ?

SCCGL-22AUG-S2
(a)

(b)

From the given options, which figure can be formed
by folding the figure given in the question?

fRrafaf@d fReed & @ #la €@ 3av angpfa s 7 &
S 3THTY T ARF TS ST et 87

A

DE

(a) (b)

SCCGL-08AUG-S2

From the given option, which answer figure can be
formed by folding the figure given in the question?

frAfaf@d fawedi # @ @ia @ 3% 3mpfa yeaT # &
TS 3T T HTHT FATS ST Hehell 67
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(a) (b)
SCCGL-08AUG-S3

(a)
A

(b)

(@]

4
Three positions of a cube are shown below. What will
come  opposite to face  containing  '57?

A T A HT AT FIEATY AT IR B 3 50 F
AT Fofeh 9T ol AT 37k AIM?

b

SCCGL-10AUG-S1
(a)

1
(b)
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Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?
fAFATET 3o 3mpfd & @ Hlar-ar ue few 1w geaf
TR 7 & Yol TeT A FATIT AET ST Fehell?

QB0

(a)g /)

SCCGL-21AUG-S3
(a)

(b)

From the given option, which answer figure can be
formed by folding the figure given in the question?

frAfaf@a fwedt & @ i @ 303 arpfa yea # &
TS 3Tt HT AR FaATS ST Heell 67
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(@) (b)

SCCGL-11AUG-S3
(a)
A
(b)
B
@
C
(d)
D

(7
Three positions of a cube are shown below. What will
come opposite to ace containing ‘17

A T " B AT I’ Rl Y g 3 1 F
A9 ereh TR et AT 37 AM?

<671 1. 72
4 3) [ (1
2l e e | B |

-

-

SCCGL-05AUG-S3

(b)

(d)

8
Two position of a cube are shown below. What
become opposite to face containing ‘47

Free Study Material Join: Telegram.me/ExamsCart

AT Ueh T T &Y IaEUTT T 9T B 37k 4” S Aol
Frofeh 9T ahieT T 37 3TAIM?

SCCGL-10AUG-S2
(a)

A

(b)

B

(@]

C

(d)

D

©
Three positions of a cube are shown below. What will
come  opposite to face containing ‘5?7
P T g T T 3EEa’ 2Rl IR & 3w 5 F
Ta{Ie weTeh WX il AT 37 37T ?
B~ £1.7 4
1 2

SCCGL-10AUG-S3
(a)
6
(b)
1
(@]
3
(d)
2

(10)
Two position of a cube are shows below. What will
come opposite to face contaning ‘& ?

I Uk Gt T & 37aeT gl Y § | Ui Reg 6 &
RATAT Heleh I HiaT TT v Reg 339l 2

"

5 7 B
a a

SCCGL-12AUG-S3

(a)
5
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(b)

[S]

(@
Bor6
(d)

B

(amn

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

AT 3T 3Mehic & F ieT AT & T 7T ToreT
a@%ﬁﬁqﬁuﬂﬁmaﬁmm?

5{.

SCCGL-17AUG-S1
(a)

(b)

(12)
Three positions of a cube are shown below. What will
come opposite to face  containing ‘47

0 6 Gl

-

" -

SCCGL-09AUG-S1

(a)
1
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(b)
2
(@]
4

(d)
5

(13)
From the given options, figure can be formed by
folding the figure given in the question ?

fAetfafed fashodt 7 & et A1 3o 3Tl et 7 &
TE IWHIA W OAlSH FAS ST Hehdl § O ?

G

B
Y

R

of1]

B

G
0
(a) (b)
SCCGL-09AUG-S2
(a)
A
(b)
B
Q

)

(14)

Form the given options, which figure can be formed
by folding the figure given in the question?
frfaf@d el & @ #lar A 3av 3l e # &

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

T WP F AR IS ST AR §?
8

SCCGL-11AUG-S1

(a)
A

(b)

(@]

15
(thr)ee positions of a cube are shown below. What will
come  opposite to face  containing  ‘E?
AT U °eT & diel eV =it a=fT §) 38R B’ &
AR Bereh W et AT H&R 3Rem?

B E A 8

o |[A| | ¢ [F

A
SCCGL-11AUG-S2
(a)

(16)
Three positions of cube are shows below. What will
come opposite to face  containing  'N?

AT T g T e 1aTATT AR Y § | 38R N’ &
AT Tereh TR et AT 38T 39T ?
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ZPS
15

SCCGL-12AUG-S1

(17)
Three positions of a cube are shows below. What will
come opposite to face containing ‘B ?

T U Ol T et 3aTTY Rt =Y § | 318} B° &
I Teleh TR ahisT AT 3187 AT ?

D> B>
IB_' C E_"F__:

’CTG-
|

SCCGL-12AUG-S2 : 19
(a)

C

(b)

(18)
Tow position of a cube are shown below. What will
come  opposite to face  containing  ‘B"?

o U geT T & 3raTAT? g R § | 38R B’ F
AT ®ad W HT @ NER IR_Im 7

SCCGL-09AUG-S3
(a)

Q

(b)

I

(@
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S
(d)
QorT

(19)
Three positions of a cube are shown below. What will
come opposite to face  containing ‘a'?

o T g7 Y e 3raeed gy ar=ft § | g ee ‘o
F AT el W HisT I1 Ui Rieg 339 ?

Y A B 4 a
n
a o] 6
SCCGL-16AUG-S1
(a)
B
(b)
)

@
n
(d)
8

(20)
Form the given options, which answer figure can be
formed by folding the given in the question?

frfaf@d fAsmedl & @ e @ 3aT 3mpfa weaT 7 &
S 31T T AISH TATS T Hebell © 2

.

qs W |l

) )

SCCGL-16AUG-S2
(a)
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Three position of a cube are shown below.

fd th g T dF EEur] g o § |
{ 0 Z 4

) )

Which symbol will come on two faces marked '1 and 27
1 T2 3ifcpd G Bl R P 8 elep feg o 2

2

-
|

N (Y

SCCGL-16AUG-S3
(a)

0 and &

(b)

o and B

(0

0 and B

(d)

0 andy

(22)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
guestion figure?

A& 3R AMpfd & 4 HiT @1 vl few 77w geat
MHA & § o O § TARIT AGH ST Fhell |

O L]

SCCGL-17AUG-S2
(a)

A

(b)

B

(@]

C

Free Study Material Join: Telegram.me/ExamsCart

(d)
D

(23)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure ?
ATl 3R 3pfa & § Hief &1 e T 7T gt
A & @ G O ¥ FART AL ST Hevel ?

©

(a)
SCCGL-17AUG-S3

(a)
A

(b)
Q

)

(24)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

e @ 3o% 3mepfaat & @ sl @1 et Qv arw geaf
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MR & G g7 q AG AR ST FhaT § ?

SCCGL-18AUG-S1
(a)

(25)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
guestion figure?

frafaf@a 3or ot # & #ia a1 aa fou 1w gear
3MepTeY 7 Yol &l & 8T AT SIT Fhell & ?

X|O

SCCGL-18AUG-S2
(a)
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C
(d)

(26)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

fAFAforae 3o 3Mpid # & HlaT @1 v T 1w gt
MR A & ol U F AT AL ST Hehal?

B

SCCGL-18AUG-S3
(a)

A

(b)

27)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

fAefoed 3% 3pfa & @ Hif @1 va G 7T 9ot
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MR #A F Gl o § FAI AG ST Fehal?

(a)
SCCGL-19AUG-S1
(a)

(d)

(28)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

fAefoed 3 pfa & @ Hi @1 va U 71w gt
MR HA F Gl g § FAI AL ST Fhar?

w X

(a) (b)
SCCGL-19AUG-S2
(a)
A
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(b)
B
(@]

(d)
D

(29)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

e @ 3R 3mepfaat & @ sl a1 el QT 1w weat
P A G °T F A A ST FhaT § ?

B0

SCCGL-19AUG-S3
(a)

30)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

frafaf@a 3o sngpfaal # & #ia @1 ae RRu 71w weat
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P & G g7 q AG AR ST FhaT § ?

]

®

SCCGL-20AUG-S1

(a)
A

(b)

(@]

€3]

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

frarfaf@a 3o snspfal # & #la a1 e v 717 geat
P A G g @ A FAR— ST Fehl § ?

Ol

(a) (b)
SCCGL-20AUG-S2
(a)

a
(b)
b
(@]
C
(d)
d

32)
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Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

AFAT@d 3R 3MHia & F Sl &1 uel U 71T 9ot
P A & ol O @ FAIT A SN Fohell § ?

O

(a)
SCCGL-21AUG-S1
(a)

A
)

33)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

e @ 3o% 3mepfaat & @ sl @1 et Qv arw geaf
IHfT A G °T F G A ST Fhal § ?

SCCGL-21AUG-S2
(a)
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C
(d)

(34)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

AeAff@d 3R 3Mpiad & F Sl &1 °el U 7T 9ot
MR A q ol O A TR G ST Hehell 8 ?

SCCGL-22AUG-S1
(a)

(b)

(35)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

fAeAfaf@d 3o% 3mepfaat & @ sl a1 uer fqw arw geat
P & G g7 F AG AT ST FhaT § ?
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0

(d)

(36)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

frafaf@a 3o sngpfaal # & #la @1 o RRu 1w wear

Please Support Us Like us facebook.com/ExamsCartOfficial& Follow Us On




Daily Visit: ExamsCart.com

MR & G g7 q AG A>T ST FhaT § ?
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(38)

which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?

ATl 3R 3pfa & § Hief &1 e T 7T gt
T & & ol O @ FA T A ST Fohell § ?

SCCGL-23AUG-S1
(a)

A

(b)

B

(@]

C

(d)

D

37)

Which of the following cube in the answer figure
cannot be made based on the unfolded cube in the
question figure?
fAeAfaf@d 3R 3MRia & @ Sl @1 °el U 71T gt
IMpT & A Gol °eT F FATAT 76T ST Fehel |

/ =
Al a
/ \ ,/j

SCCGL-23AUG-S2
(a)

A

(b)

B

X

SCCGL-23AUG-S3
(a)
A
(b)
B
)

)

(39)
three positions of a cube are shown below. What will
come  opposite to face  containing  I'”?

AT U e Fr AT 3raEATT gt IR §| 3R I F
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Aol wed W @A @ R e A A G ol F G A ST FhaT § ?

WV N~ v/ @
rFd _,.H ../

N Y _Vl I +

SCCGL-05AUG-S1
(a)

VI

(b)

\Y;

(@]

Il

(d)

\Y;

(40)
Three positions of a cube are shown below. What will b
come  opposite to face  contaning '$'? (a) ( )

o U =T 1 I 31aTATe gy =i § | ol Reg <$° SCCGL-20AUG-S3

& QUid Boad W FA @ yde Reg 3w 2 S)

(b)

%~ N

s |* -

SCCGL-08AUG-S1
(a)

Answer Key
1 |D]2 |B|3
6 (A7 |C|8
11|B[12|A[13
16|D(17|D|[18
21(B[22|B|23
26(D(27|D|28
41) 31]A(32[C|33

Which of the following cube in the answer figure 36(B(37|C|38
cannot be made based on the unfolded cube in the 41
question figure?

fAeAfaf@d 3o% 3mepfaat & @ sl a1 e fQw arw gt

N(P>>E[>E|[>N
P[> >>P[W[O]|w[>
Ww[w[A[>|0|o|o

O(w|[>»|0O(W|QO|W (>
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